Division
This problem gives you the chance to: l 1

* relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much d&es each person pay when 6 peéple share the cost of a meal costing $100?
$16.47
b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed?
|7 Qoeks :

c. What is the cost per gram of shampoo costing $6 for 100 grams?

His can't be answered

d. How many CDs costing $6 each can be bought for $100?
\
16 CD%

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days?

l7 m\l&ﬁ pec o\au
v </

2. Write another question, together with its sensible answer, that can be answered using 100 + 6.

Copyright © 2007 by Mathematics Assessment Page 1 Division Test 6
Resource Service. All rights reserved. .




Division
This problem gives you the chance to: l 2

« relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
wWnok dees cengy Q\c ANDEY Meon?
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much does each person pay when 6 people share the cost of a meal costing $100?

P16.70

b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed?
| ] 90@\/6
c. What is the cost per gram of shamﬁ)o costing $6 for 100 grams?

1100 oloeut

d. How many CDs costing $6 each can be bought for $100?
(0 cds

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days?

(0. 10 mtles o d(NuJ\ |

2. Write another question, together with its sensible answer, that can be answered using 100 + 6.

How much olnders Yok cost 3 W could L
ggb with \OO dollors .
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Division
This problem gives you the chance to: I 3

« relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.

a. How much does each person pay when 6 people share the Zost of a meal costing $100? " ¢

b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed? I/ZZ
. b,

t
2

c. What is the cost per gram of shampoo costing $6 for 100 grams?

16 4y

d. How many CDs costing $6 each kcan be bought for $100?\ | L_Y;/é
%U'Cﬂﬂhqlé<é[k.

e. What is the average distance per day, to the nearest mile, traveled by a hlker on the
Appalachian Trail, who covers 100 miles in 6 days?

/”/\L Ne ar e:;l' M !5 /,jar)‘(‘) be_ |7 Ml'/eﬁaalc/l{

2. Write another question, together with its sensible answer, that can be answered using 100 + 6.
/Ot) Gfle i @ loo 58&();,
-ﬂ\ef e GlCé Ol\ {o Sppas { h 6%"1 Da(“/[ <

( e&J?
you will I"\CCCJ Wpackﬁ O?' Seeo)s,
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Division ’
This problem gives you the chance to: I 4
« relate a given division calculation to appropriate practical situations .

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much does each person pay when 6 people share the cost of a meal costing $100?

.oﬁsd,

b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed?T
\ 71

c. What is the cost per gram of shampoo costing $6 for 100 grams?
d. How many CDs costing $6 each can be bought for $100?

. O

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days?

\ 1

2. Write another question, together with its sensible answer, that can be answered using 100 + 6.

Eoeh  loge she Cests HG, Vo meny
Can Yoo \oj o o floo ©ill?
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Division
This problem gives you the chance to: l 5

- relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to giye a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much does each person pay when 6 people share the cost of a meal costing $100?
o, (7).
b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed?
L OOCKS

c. What is the cost per gram of shampoo costing $6 for 100 grams?

NS {1 8@9“6

-

d. How many CDs costing $6 each can be bought for $100?
\Lo_difl

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days?

\7 M’\\e{L

2. Write another question, together with its sensible answer, that can be answered using 100 + 6.
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Division | | 4
This problem gives you the chance to: S 1

» relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much does each person pay when 6 people share the cost of a meal costing $100?

blee !

b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed?

[/

c. What is the cost per gram of shampoo costing $6 for 100 grams?
_cafif e dve this Day

Y
d. How many CDs costing $6 each can be bought for $100?

Bl

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days?

7

2. Write another question, together with its sensible answer, that can be answered using 100 + 6.

MMMLMAM@_
RIS xS oy Wd ot N
[ 31

'ép@ceg

Copyright © 2007 by Mathematics Assessment Page 1 Division Test 6
Resource Service. All rights reserved.




Division
This problem gives you the chance to: 82

* relate a given division calculation to appropriate practical situagons

When you calculate 100 -+ 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much does each person pay when 6 people share the cost of a meal costing $100?

16,67

b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed"
{ 7 QO&\‘»S

c. What is the cost per gram of shampoo costing $6 for 100 grams?

s Rt loe OwnSepeced -

d. How many CDs costing $6 each can be bought for $100?

o ca

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days? :

W67 voiles

2. Write another question, together with its sensible answer, that can be answered using 100 + 6.

/4 e aums  [O0) lg‘pﬁ; in G m"v\ue-h/ how
mej ZGQ% d‘b%e, 'PV\Q. S iviawned i Ll Minuet
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‘Division
This problem gives you the chance to: SB

» relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much does each person pay when 6 people share the cost of a meal costing $100?{ )

T\\L\L tach  goy @\“ A7
b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed?
T nerd Vo \ov\\} 1 Qe ceg,
c. What is the cost per gram of shampoo costing $6 for 100 grams?
o (, §
d. How many CDs costing $6 each can be bought for $100?

b ods  can be  boyhd

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days?

“\9 “\\cef Con \fa\re\ c\\ooh\f “m;\es

2. Write another question, together with its sensible answer, that can be answered using 100 + 6.

\Aﬁm \&0\0’\\! 9‘\ cLPS o) % 3\AW\ (A\\\ (e Xd l/\ 9 S'( Hf\e
s CX/\‘;\ALCY\ C;("\' ‘\Q \'\'\efg ace QO g;ecegu’
o plieces endh ,
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Division
This problem gives you the chance to: 84

« relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much dogs each person pay when 6 people share the cost of a meal costing $100?
$lp.e0
b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed?
Dj

c. What is the cost per gram of shampoo costing $6 for 100 grams?

4 1661

d. How many CDs costing $6 each can be bought for $100?

b s

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days?

0out T mile<, @@(\douj

2. Write another question, together with its sensible answer, that can be answered using 100 + 6.

How) oneh \obblequm Can e
\@\?M With 8 (00 v gaokn pacls -
s $67
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Division
This problem gives you the chance to: 85

« relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.

a. How much does each person pay when 6 people share the cost of a meal costing $100?

Ji@__psrsmn wendd pay about -&6.@7,-

b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed?

| -Z ’Qo.C.. KS‘ Qcﬁ.__hmde Ql ;
c. What is the cost per gram of sham'poo costing $6 for 100 grams?
not” _poss 1h /e
d. How many CDs cosﬁng $6 each can be bought for $100?

3

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days?

/ ? mi[:__,am:-__&m
/
2. Write another question, together with its sensible answer, that can be answered using 100 + 6.

Q__If a Iogcfl'(; of  merblea bas &
of +M+_AM_M%_P3M
= fo, ' | (69 .
A About 6
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Division
This problem gives you the chance to: 36

* relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How"much does each person pay when 6 people share the cost of a meal costing $100?
MY ]
b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed?
\T ks |
c. What is the cost per gram of shampoo costing $6 for 100 grams?
At 7], Etel1N

d. How many CDs costing $6 each can be bought for $100?

lo O

€. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days?

Qo R\ 1 enileS ey Q\O%

2. Write another question, together with its sensible answer, that can be answered using 100 + 6.

AR Oewo eoX o N\%\\i\i@@b&u\)‘)&\\ Qo

oye “epken \@N@m,mgg_mm%ﬁ
Wi\ Leu Yone etken (o ondins
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Division ‘
This problem gives you the chance to: 87

« relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much does each person pay when 6 people share the. cost of a meal costing $100?
6.7 ! | :
b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed?
7 oo-C Ks
c. What is the cost per gram of shampoo costing $6 for 100 grams?
1outo 7
d. How many CDs costing $6 each can be bought for $100?
/G cds

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days?

|7 mnles

2. Write another question, together with its sensible answer, that can be answered using 100 ~+ 6.

There an 10O palls  +hat Ot exenly i

</

boxes.. How My boves  ace needed.
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Division
This problem gives'you the chance to: 88

- relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answér to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much does each person pay when 6 people share the cost of a meal costing $1QO?
blo.b 003 QQ
b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed?
N et \Qz o | |
c. What is the cost per gram of shampoo coéting $6 for 100 grams?
f O-00 OOFL. OO
d. How many CDs costing $6 each can be bought for $100?

Yo oeila

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days?

\o.b Miks D35

2. Write another question, together with its sensible answer, that can be answered using 100 + 6.
Bequn nhod 100  SkatHes  Sne cnd Vnee six Coends
Spuk e &VeNW, e A (
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Division
This problem gives you the chance to: Sg

» relate a given division calculation to appropriate practical situations

When you calculate 100 = 6 using a calculator, the result is 16.6666667.

This result can be used to give a sensible answer to all the following questions except one.

1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much does each person pay when 6 people share the cost of a meal éosting $100?
51y
b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed?

L7 Qackhs

c. What is the cost per gram of shampoo costing $6 for 100 grams?

)l Hhig mm/:/

no
d. How many CDs costing $6 each can be bought for $100?
\b cds

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days?

| Zmles per day

2. Write another question, together with its sensible answer, that can be answered using 100 + 6.

L

4@ NS 2N G2t & e, . (& fppre S des
/ N , Wt \ . /' - ~ j
Sold 1N CRQ . HOMW YNy b AgS. axe

"needed. Y
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Division |
This problem gives you the chance to: S 1 0

« relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much does each person pay when 6 people share the cost of a meal costing $100?
E\\k\\k ! é) é/L \0 UL‘Y—C

b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed?

\N

c. What is the cost per gram of shampoo costing $6 for 100 grams?
(
QO Rawd

d. How many CDs costing $6 each can be bought for $100?
(
\lo Qo

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days?

D A\l\\\ CA

2. Write another question, together with its sensible answer, that can be answered using 100 + 6.

M\& wan Yo qo ko flockin

\ T \\&\\ ney e

eyt W G ,(zcﬁe\@ B
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